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A=c/v=(2998x 10°m/s)/ (2.45x 10’ s")=0.122 m
ANOODODO)/A@O0D000)=(0.122m)/(6.25 x 10" m) = 196,000
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236 nm +(1x 10° m/nm)=2.36x 10° m
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OO00v=c/A =(2.998 x 10° m/s) / (2.36 x 10° m) = 1.27 x 10" s
00000000000000000000

E = hv = (6.626 x 10 Js/photon)(1.27 x 10" s™) = 8.42 x 10™"" J / photon
000000000000000000000000

E = (8.42 x 10" J / photon)(6.022 x 10> photons / mol) = 5.07 x 10’ J mol
XO0O0O0OODO0O0OD000000000 5.07x10°Kmol’000000000000000000@175k)/
mo)J 000000000000
EXDOOOO)/E@ODOOO)=(5.07x 10*kJ mol™) / (175 kJ mol™) = 290
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O0000000000000R=1.097 x 10’ m", h=6.626 x 10 Js, ¢=2.998 x 10° m/s 000000000
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E, =-Rhc/n’ = -Rhc/ 1* = - Rhe

=-(1.097 x 10" m™) + (6.626 x 10™* Js) * (2.998 x 10° m/s) = - 2.179 x 10"* J/atom
n=2000
E,=-Rhc/2°=E, /4= (-2.179 x 10" J/atom) / 4 = - 5.448 x 10" J / atom
O0D00000 1kI=1000J000000000000000000000000
E; = (-2.179 x 10™ J/atom) * (6.022 x 10> atoms / mol) * (1 kJ / 1000 J) = -1312 kJ / mol
000 E,=E, /4=-328kJ/mol
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AE = - Rhe [(1/2% - (1/ 4] = - Rhc (0.1875)

Rhe 0 1312kJ/mol 000 D0On=400 n=20000000000000000000O0O0

AE = -(1312kJ / mol ) » (0.1875) = - 246.0 kJ / mol

000 Epen=hv=hc/AND00D00000

N = he | Eppoton = (6.626 x 10™* Js/photon) « (6.022 x 10” atoms / mol) / (246000 J / mol)

=4.863x 10" m=4.863 x 10" m + (10’ nm / m) = 486.3 nm
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0000 =9.109x 107" kg
OO0OO0D0 =(0.400) x (2.998 x 10° m/s) = 1.20 x 10° m/s

0000000000000000000
N=nh/mv=(6.626x 107" (kgem’ / s°) (s) / [(9.109x 10°") x (1.20 x 10° m/s)]
=6.06x 10" m
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=6.06 x 10° nm
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